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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP5 0
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P5

BfiE) | EBATK (FD) | EHRE (EH/H) | BERERE (B/R) | XK ERE

07:25 326 150.0 0. 588 5| FHA@O7:25 KENFEF (CGRAIERENEE)
08:10 326 150.0 0.588 F  FHAC08:10 KEFEF (RAMEESE)
09:20 326 150.0 0.588 F|  FHA09:20 KENFRF (FAMERE)
10:10 326 150.0 0.588 & FiHfe10:10 KHFFEF (RFEERS)
10:55 326 150.0 0.588 F(  FHAe10:55 KEIEFE CGRAMEESE)
11:35 326 150.0 0.588 F|  FaHR@11:35 KEFEF (RAMERE)
12:15 326 150.0 0.588 s FER@12:15 KEFEF (RAHEEE)
12:55 326 150.0 0.588 E|(  FiHRe12:55 KREFEF CGRAEEE)
13:35 326 150.0 0.588 F(  FiHAe13:35 KRHEFEF CGRAERESE)
14:15 326 150.0 0.588 | FHfe14:15 KHEF (RAMEESE)
15:00 326 150.0 0.588 F|  FEAe15:00 KEIEFE CGRAFESE)
15:50 326 150.0 0. 588 & FiH#fe15:50 KRFIEF CGREAERES)
16:50 326 150.0 0. 588 & FiHfe16:50 KFEIEF (REERES)
23t 4238.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 6.5

RE K i3 [B] R ECEIR K.

HEEIKECE (2350. 0 vs 3240.0) R
RE R ERHHEREC/PHIE SR, AIAESLIMAREL R SR




FRV (ml plant-1)

ET (ml/hr/plant)

P5_0, Day=65 (2025-06-08)

0.5- V1, V¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET L 2000
: 160(
- 1500

90 L 1000

0.2 A - 500
00 00 00

optEC0=2600. 0, setECB=2080.0

optPH0=6. 5, setPHB=6.5

0.0

200 1 ByWoFv 4 - 2000

D65 02:02: ET=1600 Fg=1950.0 Ro=358.0\/\/

ya

4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

B B B B B B B B B ] B B B B B

100 4 N L 1000

 nton e > b

o $—o—¢
3
5

0.6 1

0.4+

0.2~

0.0

750
500 ~

250 ~
0 | A A Warking:

30 §

_obs', 'PPFD obs'] is missing

25 A

20 -

" "To_obs'] is missing

15 A

80 -

60

—— RH Warning: col ['RH obs’, 'RHo obs’] is miss}

0.6 1

0.4+

0.2~

00 T T T T
0.0 0.2 0.4 0.6 0.8 1.0

FRV (ml d-1)

cumET (ml/plant)



hour

100

80

- 60

- 40

§_

%

%

e
6\
%
7
e
-
%,

o

\ R
N N
S
Q\z\ %7\

2
>
L

&

£

%,
&

At ’@(26_.?
%

%

%



P5

BTiE) | EBATK (RY) | EHRE (EH/HK) | ERERE (B/R) | KR R

07:05 319 150.0 0.588 S| {Rige07:05 B (KRAERSE)
07:45 319 150.0 0.588 F 1BRi&e07:45 Bzl (GRAERESE)
08:35 319 150.0 0.588 5| {Ri%e08:35 Bz (FFAERSE)
09:30 319 150.0 0.588 Sl 1Ri%e09:30 B3 (RAERSE)
10:15 319 150.0 0. 588 E {Ri%e10:15 Bz (RAERSE)
10:55 319 150.0 0.588 El 1BRi&@10:55 Bz CGRAEREE)
11:35 319 150.0 0.588 5 {Ri%e11:35 Bz (GRAERSE)
12:15 319 150.0 0.588 El Rige12:15 Bz (RAERSE)
12:55 319 150.0 0.588 El BRi&e12:55 Bz CGRAEREEE)
13:35 319 150.0 0.588 F|  {Rig&e13:35 B3h (KRE{ERKSE)
14:15 319 150.0 0.588 S| Rige14:15 Bz (REAERSE)
14:55 319 150.0 0.588 F BRige14:55 Bz (GRAERESE)
15:45 319 150.0 0.588 =l {Rige15:45 B3 (REAERSE)
16:50 319 150.0 0.588 Sl 1Ri%e16:50 B3 (KRAERSE)
21t 4466.0 (14)%) 2100.0 32 KEC: 2080.0, PH: 6.5

RE K i3 [B] R ECEIR K.

HEEIKECE (2350. 0 vs 3240.0) R
RE R ERHHEREC/PHIE SR, AIAESLIMAREL R SR



P5_0, Day=64 (2025-06-07)
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